P EH R TREAE oKL
(LA7P#H :113#£11% 6p)
b 5% 1 B 2 3 s
aw | PF o, £ & % (ppm) AP I % 84 % (pob) b % (ppm) e
o | v RE £ = (L3 = .11,
(=D Ao & | & | & | (ppm) (ppm) %ifjﬁ {ﬁ;% B DDT | % BHC |3 PCNB| #Acig *
(3¢5)
| A |&F — — — — 20.0 150 — — — — — —
2 A |R&%g — — — — 20.0 150 — — — — — —
3 A [P — — — — 20.0 150 — — — — — —
4 A |Pkiz — — — — 20.0 150 10 b — — — —
5 | P |a2% — | = | = =] 200 150 = = — — — —
6 | P |33 — | = =] =1 200 150 — — — — — _
T | P |a® — | = | = =] 200 150 — = = = = —
8 | A A — | — | =] =1 200 150 — — — — — -
9 P |53 — — — — 20.0 150 — — — — — —
10 M| % & — — — — 20.0 — — — — — — _
11 M &5 7 — — — — 20.0 — — — — — — _
12 | A |¥¥ — | = | = = 300 150 10 5 — — — —
13 M |3 F — — — — 30.0 — — — — — — _
14 M F5 — — — — 30.0 — — — — — — _
15 | M |9 (P)% — | = | = | = 30.0 — — — — — — —
16 M (e — — — — 30. 0 — — — — — _ _
17| M |2p# — | = | = =] 800 — — — — — | - —




] % & B 2 A i3
. N . £ £ % (ppm) ot ER ;o + 8 4 % (ppb) E % (ppm) ——
" (2 v CoD = 2 = 1™ At .11,
(D o & | & | & | (ppm) | (ppm) %{(f; W ﬁ; * B DDT | % BHC |4 PCNB| #Acig*
(£5)
18 | M (=& — | — | — | — | 30.0 — — — — — — —
19 | M |[f#%z — | — | — | — | 30.0 — — — — _ _ _
20 | M |* 7% — | — | — | — | 380.0 — — — — — — —
21 | M |p #4 — | — | — | — | 380.0 — — — — — — _
22 | M |*% — | — | — | — | 30.0 — — — — — — —
23 | M %% — | = | = — | 300 — — — — — _ —
24 | M pH*F — | = =1 =1 300 — — — — — — —
25 | A |T &% — | — | — | — | 300 150 — — — — — —
26 | P |®i& 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
2T | P |g2 g 5.0 | 5.0 | 1.0 | 0.2 — 150 — — 0.2 0.2 — | REHR
28 | P |¥& 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
29 | P |B= 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
30 | P |#FA 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
31| P % 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
32 | P |t 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
33 | P i‘fﬂﬁ (2 ¥ 5.0 | 5.0 | 1.0 | 0.2 — 400 — _ _ _ _ _
#)
34 | P |[2%(Rr<£%)| 50|50 |1.0]0.2 — 400 — — — — — —
3 | P |¥# 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — _ _
36 Bt 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —




] % & B 2 A i3
. N . £ £ % (ppm) ot ER ;o + 8 4 % (ppb) E % (ppm) ——
" (2 v GBS S = 1™ At .11
(D o & | & | & | (ppm) | (ppm) %{(fji —Eﬁ;%‘ B DDT | % BHC |4 PCNB| #Acig*
G£5)
37 P |&:# 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — _
38 P &3 5.0 | 5.0 | 1.0 | 0.2 — 150 10 5 0.2 0.2 — REWE
39 P #2 5.0 | 5.0 | 1.0 | 0.5 — 150 — — — — — _
40 P |u# % 5.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
41 P ("5 5 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
42 R 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
43 P (£33 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
44 P =% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
45 P %% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
46 P 5t¥ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — _
47 P &k 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
48 P |58 (¥ 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — _
49 P |&e g 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
50 P |2 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
51 P ¥ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
52 P |= K 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — 9 E &
53 P |[xP#% 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
54 P |yl 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
59 P PR 5.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
56 P | 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —




b Y # B % . 3
o o5 . . £ & % (ppm) AP I * 8 4 % (pph) £ % (ppm) ——
" (2 v GBS S = 1™ At .11
= oo | & | A& (ppm) (ppm) %ifji fﬁ;% 4% DDT | % BHC |4 PCNB| A=if *
(3¢5)
57 P |¢ & 5,0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
58 P |g # 5,0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
h9 P g+ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
60 P |d 0 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — REW
61 P |*3 5,0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
62 P |32§ 5,0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
63 P |&ER 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
64 P |wm=3 5.0 | 10.0| 1.5 | 0.2 — 150 — — 0.2 0.2 — R
65 P »% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
66 P (v 5H 5,0 | 5.0 | 0.3 | 0.2 — 400 — — — — — —
67 P &% 5,0 | 5.0 | 0.3 | 0.2 — 400 — — — — — RERg
68 P [+ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
69 P |+x 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
70 P |¥ W 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
71 P |¢/m% 5,0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
2 P |F¥ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
73 P |A iRy 5,0 | 5.0 | — | 0.2 — 150 — — — — — —
T4 P 2% 5,0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
() P =~ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
76 P |&a# — | 5.0 — [0.2 — 150 — — — — — —




& B b1 B b1 £ ®

e e . . £ & % (ppm) T + % 4 % (ppb) £ ¥ (ppm) _
" (2 v GBS S = 1™ At .11
=P o & | & | & | (ppm) | (ppm) %‘if;% ﬂg;%‘ % DDT | 4% BHC |4 PCNB| =i *
(35)
T | P |%% — |50 — |0.2 — 150 — — — _ _ _
8| P |AE — |50 — 0.2 — 150 — — — _ _ —
79 | P/A|* AT F — | 5.0 1.0]0.2 — 150 — — — _ _ _
80 | M [z% — | 5.0 | 1.0]0.2 — = — — — — _ _
81 | M |m% — | 5.0 1.0]0.2 — — — — _ _ _ _
82 | P | 3.0 10.0] 1.0 | 0.2 — 150 — — — _ — | rex
8 | P RE?D 3.0 [10.0] 1.0 | 0.2 — 150 — — _ _ _ _
84 | P |Ru3 3.0 [10.0] 1.0 | 0.2 — 150 — — — _ _ _
85 | P |An¥ 3.0 [10.0] 1.0 | 0.2 — 150 — — — _ _ _
8 | P |pBE 3.0 |10.0] 1.0 | 0.2 — 150 — — — _ _ _
87T | P |7 &% 3.0 [10.0| — | 0.2 — 150 — — — _ _ _
88 | P |"#= 3.0 10.0] 1.0 | 0.2 — 150 — — — _ _ _
89 | P |®uF 3.0 [10.0] 1.0 | 0.2 — 150 — — — _ _ _
9 | P |RIpE 3.0 10.0] 1.0 | 0.2 — 150 — — — _ _ _
91 | P |% Rt 3.0 [10.0| — | 0.2 — 150 — — — _ _ _
92 | P FEGH) 3.0 {10.0| 1.0 | 0.2 — 150 — — — _ _ _
93 | A [pEir 3.0 [10.0| 1.5 | 0.2 — 150 — — — — _ _
94 | P 47 8% 3.0 [10.0| — | 0.2 — 150 — — — — _ _
95 | P |&F 3.0 [10.0] 1.0 | 0.2 — 150 — — — _ _ _
96 | P |man 3.0 [10.0| — | 0.2 — 150 — — — _ _ _




b Y # B % . ¥
o o5 . . £ & % (ppm) AP I * 8 4 % (pph) E % (ppm) ——
" (2 v GBS S = 1™ At .11
(=D o4& | & | & | (ppm) (ppm) %ifjﬁ {ﬁ;% B DDT | % BHC |3 PCNB| #Acig *
(3¢5)
97 P |igX & 3.0 110.0| 1.0 | 0.2 — 150 — — — — — —
98 P [k#E 3.0 110.0| 1.0 | 0.2 — 150 — — — — — ol )
99 P |d =it X 3.0 |110.0| 1.0 | 0.2 — 150 — — — — — —
100 | P (g ¥ 3.0 |15.0| 1.0 | 0.2 — 150 — — 0.2 0.2 — R
101 P AR 3.0 |15.0] 1.0 | 0.2 — 150 — — 0.2 0.2 — BRAE
102 | P [H& 3.0 |15.0] 1.0 | 0.2 — 150 — — 0.2 0.2 — BRAE
103 | P (## 3.0 |15.0| 1.0 | 0.2 — 150 — — — — — —
104 | P |6 % 3.0 |15.0| 1.0 | 0.2 — 400 — — — — — —
105 | P [T+ 4 3.0 |15.0| 1.0 | 0.2 — 150 — — — — — —
106 | M |F% 3.0 |15.0] 1.0 | 0.2 — — — — — — — —
107 | P [EFHFGELI) 3.0 |15.0] 1.0 | 0.2 — 150 — — — — — —
108 | P |3ziF 3.0 | — | 1.0 | — — 150 — — — — — —
109 | P (¥4 3.0 | — | 1.0 | 0.2 — 150 — — — — — —
110 | P :{%ﬁ(ﬂh 3.0 | — — 0.2 — 150 — — — — — —
1 5 BAET)
111 M |42 3.0 | — | 1.0 | 0.2 — — — — — — — —
112 M (% ® 3.0 | — | 1.0 | 0.2 — — — — — — — —
113 P |2% 3.0 | 5.0 | 0.3 ] 0.2 — 150 — — — — — RENE
114 | P H¥ 3.0 | 5.0 0.3 | 0.2 — 150 10 9} 1.0 0.9 1.0 VB¢ 2
15| P | ¢ 3.0 | 5.0 0.3 | 0.2 — 150 10 b 1.0 0.9 1.0 A%




] % & B 2 A ®
. N . £ & % (ppm) ot ER ;o + 8 4 % (ppb) E % (ppm) ——
" (2 v GBS S = 1™ At .11
= o & | & | & | (ppm) | (ppm) %{(fji —Eﬁ;%‘ B DDT | % BHC |4 PCNB| #Acig*
(L 5)
116 | P |&F 3.0 | 5.0 | 0.3 0.2 — 150 10 5 1.0 0.9 1.0 §- % 3
117 | P & 3.0 | 5.0 | 1.5 | 0.2 — 150 — — — — — _
118 | P (¥ % 3.0 | 5.0 | 1.5 | 0.2 — 150 — — — — — _
119 | P |7 &GE3) 3.0 | 5.0 | 1.5 | 0.2 — 400 — — — — — _
120 | P |Fm 3.0 | 5.0 | 1.5 | 0.2 — 150 — — — — — _
121 | P e m+ 3.0 | 5.0 | — | 0.2 — 150 — — — — — _
122 | P 2 E 3.0 | 5.0 | — | 0.2 — 150 — — — — — _
i
123 | P |6 % 3.0 | 5.0 | — | 0.2 — 150 — — — — — _
MET (X2 —
124 | P R HFE2X; | 30|50 — |0.2 150 — — — — — —
§ 240
125 | P R¥E 3.0 [ 5.0 — | 0.2 — 150 — — — — — —
126 | P &% 3.0 | 5.0 | — | 0.2 — 150 — — — — — RER
127 | M |¢ 23 — — — — — — — — — _ _ _
128 | M |4 4% — — — — — — — — — — — _
129 | M |(#FzCrEE) | — | — | — | — — — — — — — — —
130 | M &2 — — — — — — — — — — — _
131 | M |Bidz — — — — — — — — — — _ _
132 | M |B% — — — — — — — — — — — _




b Y # B % . ¥
i g - £ & % (ppm) AP I * 8 4 % (pph) E % (ppm) ——

A 2 BEER|-F v 11,

= # | & | & | & | (ppm) | (ppm) %ifj 2l ﬁ; 2 % DDT | 3% BHC |4 PCNB| A=if*

(L 5)
133 | M |B=m — — — — — — — — — — — —
134 | M |43 — — — — — — — — — — — —
135 | P | L &(23) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
136 | P |9 % 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
137 | P [#pp (3x3) | 3.0 (50| 1.0 0.2 — 400 — — — — — —
138 | P |5 (L3) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
139 | P |#a& (GL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 10 b — — — —
140 | P |L4&(GGL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 10 b — — — —

141 P |+ g 3.0 | 5.0 | 1.0 | 0.2 — 400 10 b 0.2 0.2 — RAX
142 | P (A% 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
143 | P |12 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
144 | P &3 (23) 3.0 | 5.0 | 1.0 | 0.2 — 400 10 b — — — —
145 | P |¢ A2 (x3) | 3.0 5.0 1.0 0.2 — 400 — — — — — —
146 | P |[KR(GL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — — —
147 | P |* %A 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —

148 P |[*+§= 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — &3

149 | P |LE® 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b 0.2 0.2 — RA%
150 | P ¥ 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
151 P (%% 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
152 P |#A 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —




b Y # B % . 3
i g - £ & % (ppm) AP I * 8 4 % (ppb) £ % (ppm) =
|, 2 BELRK | -F '/ 11,
(=D o & | & | & | (ppm) | (ppm) “i'é‘%“z f;ﬁ ;’“g;%‘ # DDT | % BHC |% PCNB| Azif *
(L 5)
153 | P [+ iz 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — A+
154 | P |#%= 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
155 | P (#ix 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
156 | P |75 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
157 | P |#Am3 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
158 | P |t 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
159 | A |ipex 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
160 | A |2k 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
161 A |e&FE 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
162 | P BB = 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
163 | P |¥i= 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
164 | P [P+ % 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
165 | P [mA 3.0 | 5.0 | 1.0 | 0.2 — 150 10 9} 0.2 0.2 — RAX
166 | P |¥2 = 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
167 | P |3 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
168 P 2% 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — RENE
169 | P |&+ 3.0 | 5.0 | 1.0 | 0.2 — 150 10 b — — — —
A i_";" (-"
170 P ‘\?’é)(ja:S) 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — — —
171 P |F%4(Gx3) | 3.0 |50 (1.0 0.2 — 150 10 b — — — —




b Y # B % . 3
i g - £ & % (ppm) AP I * 8 4 % (ppb) £ % (ppm) =
|, 2 BELRK | -F '/ 11,
(=D o & | & | & | (ppm) | (ppm) “i'é‘%“z f;ﬁ ﬂg;%‘ # DDT | % BHC |% PCNB| Azif *
(L 5)
172 | P |4 % 3.0 | 5.0 | 1.0 | 0.2 — 150 — — 1.0 0.9 1.0 AR
173 | P |§8E 3.0 | 5.0 | 1.0 | 0.2 — 150 — — 0.2 0.9 1.0 S
174 P |%&K¥E 3.0 | 5.0 | 1.0 | 0.2 — 150 — — 0.2 0.2 — BAE
175 | P |&&#E% 3.0 | 5.0 | 1.0 | 0.2 — 150 — — 1.0 0.9 1.0 R
176 | P |H##(GE3) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
177 | P |PEx@Gx3) | 3050 1.00.2 — 150 — — — — — —
178 | P |[¥2%@Gx3) [ 3.0 5.0 1.010.2 — 150 — — — — — —
179 | P |mi=(3L3) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
180 | P |&#(GL3) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
2RE(CE
181 P %)(:£.3) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
182 | P |&=B =X 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — RERg
183 | P [J¥ 2 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — FR -]
184 | P |&¥2 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — FR -]
185 | P |%% 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — 98
186 | P |#E4 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — 78
187 P | 3 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — -3
188 P |##% 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — =%
Hape EH-EHE 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —
LY BEH-#5 8 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — — —

10



b % ] p b3 2 "

e £ £ % (ppm) + 8 4 % (ppb) k¥ (ppm)
B ' = b BRELR|-Fvm 115.11.6

G RINEF| i B3| : :
B | & | & | % | (ppm) | (ppm) ’E fz) A "ﬁB * | w007 | s BHC |3 PONB A3
E 1
(G.5)
Hap? BH-Hy g 3.0 | 5.0 | 1.0 | 0.2 — — — — — — — —

o

LP:EHg? FH A BFE? FH N RFg FH

2. 8FMIE%B-B-Gi2 G2 BE -
3. H TR 187 i 4o B(DEY Fhe S w1 AZE - Y FERBES Y FELFLY FHIDP 47 FH - AR FF TR
RS VRS ST 2L FREANFEZ R

4. =7 L% -

5. 115 #E 11 % 6pd  ARR20% Y FHE* W EFHRAFATVLAR » APV FHAFATWEARL 2/ FHARBAFATRE
AL otk - 2 i o o

11



A - P EHLFEAT IR AL

TEH 2R FEE A [
F'Edd 4 & L f RE RE RE RE g s

(ppm)  (ppm)  (ppm)  (ppm)  (ppm)
Acetamiprid 7R B 2.5 2 5 0.1 2 BB A
Azoxystrobin 17 3= A% 0.5 0.1 5 0.1 20 R
Buprofezin N E 0.1 5 2.5 0.1 1 BB A
Carbendazim S 1 1 15 0.5 1 A A
Carbofuran Sv ik 2.5 1 10 0.5 0.1 BB A
Chlorantraniliprole ] % 3+ 15 10 5 0.1 30 BB A
Chlorpyrifos ERAN O 1 2 5 5 0.5 BB A
Cyhalothrin Fr® 0.05 2 5 0.1 2 A A
Cypermethrin FRE 0.2 2 10 0.1 30 BB |
Difenoconazole el 15 5 5 0.1 2 B A
Dimethomorph Ee Sk 0.1 12.5 5 0.1 50 R
Fenpropathrin R 0.5 10 2.5 0.1 0.5 BB A
Fenvalerate i 0.5 5 5 0.1 1 B |
Fipronil >4 R 0.1 0.15 0.1 0.1 0.1 BB A
Flusilazole H 2 0.5 0.1 2.5 0.1 0.1 R A
Hexaconazole e 1 25 5 0.2 0.1 R
Imidacloprid Faide 2.5 3 5 1 3 SIS
Iprodione &4 e 2.5 35 25 0.1 0.1 R
Paclobutrazol v 5k 0.1 0.1 2.5 0.1 0.1 4 £ A5 R
Permethrin B 0.1 10 5 0.1 3 BB A




Procymidone e 2.5 25 25 0.1 2 A
Propargite g g 0.15 10 20 0.1 30 R L% |
Pyraclostrobin B R 2 25 15 0.2 5 R
Pyridaben 2% A 0.5 5 5 0.05 5 R L% |
Tebuconazole &l 2 10 2.5 0.5 30 B A
Triazophos = 75%’«\ 0.1 0.1 0.1 0.1 0.1 BB A

- 4o i%Fk(Carbofuran)z. #% F 'L & 5 4c %45 ~ 3-fik 2 4 (%-4% (3-keto Carbofuran) 2 3-g & 4c i%4% (3-OH Carbofuran)z. #% § %, & o
7= B4 & (Fipronil) 2 7 & 1L & ‘Jé R 3 353 R %4 (Fipronil-sulfone) 2 2 ¥ 448 -
= %giﬁﬁéﬂﬁ%i%?rmy B &4

1. # = % (Cypermethrin)z_ 7% 7 *X& - i * % = # % &= ¥ (Alphacypermethrin) 2. 7 § %2 -

2. % it fi(Fenvalerate) 7 ¢ *TE » 4 * #0351 1% & 1+ fI(Esfenvalerate) 2 7 ¥ £ -



itd o P EHRLRERTUEAL L

F'Edd 4 LUy o 'TE (ppm)
Aldrin and Dieldrin (sum) PERE & FR 0.05

DDT (sum of o,p -DDE, p,p -DDE,  ‘&if iF # 1.0

o,p -DDT, p,p’-DDT, o,p -DDD and

p.p-DDD)

Quintozene (sum of quintozene, BRI FHF 1.0
pentachloroaniline and methyl

pentachlorophenyl sulphide)

Hexachlorocyclohexane (sum of BB (y “,ﬁ% “h) 0.3

isomers a-, B- and d-)
v- BHC (Lindane) w2 0.6




